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16/3A =X 16/3A =X 17/3A =X 17/3A =X
E#E (EE) £ GERE) E#E (EE) EE GER)

B e SEAEHERE(A) 672 964 460 683
EFIEHERE(B) 14,608 17,679 12,380 13,990

3N A L EEH{EHERE(C) 476 515 269 294
BHEHEIEERZED) 11,993 13,822 4,250 7,307
OEFRREE 1,189 1,266 544 614
QEFZ I F1EIE 44 47 0 3

QREXBEICKT HIEE 1,907 1,907 - -

@EARFIHFEE 8,851 10,568 3,634 6,610
®FnDith 2 34 72 80
A FHE)=(A)+(B)+C)+(D) 27,749 32,980 17,359 22,274
BB B fR{EA 8,658 11,783 15,046 17,238
Ltk (E)/#EH 5.5% 6.0% 3.5% 4.1%

CENERBOIAMEEFHRESZICHTHMI R ERBFERFRIOBFRICDOVTICER1083A 248 1,
F10R R FRBB)DERITHIDDEL, EHEFRHBEMEEICOVTERODIFERICKZETHI0IC
DNTEFERLEHEHIBLEEBERICGHELTEYET,

CEDBERIF=ZHERBITOHBERTLTEYFET,
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